HH2 AT FES T2 28 U 7 4 9lol.
@ 7}8] : Ee] BE AelE dotiy] dA 28 Jefnvt vt

® m9 1 SAEINA AR Yol AFe] w4

@ AFo] 2719t AEle] A A4S TPt (BE 5~ 15
AN uel). AF AHert U AAG YR oA ARH By
AHE wotstr) 7t ST




the 292 oL sk shge) 1 7] SiEd o)) 7=
EoRITAY o R JRIEHo|7] ¢

F7F A9 48% ©]1L, 38 3] ]/ 42 3]

38 8] u|qte] MY S=HTt 1 W Hrhar o off, 38 & o]
S 5 FohA?

(8) \
12 -
oD
8HHF£ l/

7 <

AN

2 \

{ \
0181261341421 (3))

22 30 38 46

30 3] vlgkel S 42 Fol

5+ 8+ 11 = 24(3)
A s 5 FotH
24

50
wtabA] H A SAS= 50 Holtt. 38 3] o4 42 3] n|gke] shy
FE xgolZt L FH 54+8+11+10+ (x+1)+x+3 = 50, 2x =
12, x=6 o|th

wheha] 38 3] o)At 42 3] m]The g Ho|T},

— x 100 =48, O
O




